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giBlOHE T 5L

E 30 T—YDINE LR (4/24)
» Ry RDO—0BEBY—IL
» T—HTA—-TVY L
» OJRITFE
» BT O T Y EERKRR
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SEDT—V

% 4@ DHEEEXRE
» IERDH
> ERXEERE
> DD
» BE: EBXE
» FeE 1l
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IER5 70 (normal distribution) 1/2

v

vyvyVvyy

DOHREDNH. ADRNHEDBERIND

2 DDEHTER: 9 po D8 o2
ABORIERDHICRES

BEERDH: n=0,0=1

ERDHBTRET—5D

» 68%I[d (mean £ stddev)
» 95%I(& (mean & 2stddev) DEEICA S

f(x)

1

08

06

04

02

0

méan
median

ex|

(-X**2/2

-5
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IER2 70 (normal distribution) 2/2

tesRZERIE (PDF)
flx) =
KRiENHEE (CDF)

F(z) =

o2

5

) 2
W mean, o

o—(@=n)? /20

f)

T vartance

1

TEREA
pOOO
oy
ownorT
GoRs

f(x)

cdf

0.8

0.6

0.4

0.2
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{SFEXFE (confidence interval)

» {SXEXE (confidence interval)
> RETHNICEEICEEZRY
> HEBDEL S, REHSZRT

» {SREE (confidence level) BRIKZE (significance level)

Prob{eci <pu<ec}=1-a

(cl,¢2): con fidence interval
100(1 — «) :  confidence level
Q: signi ficance level

> Bl SFE 95% T. BFFIE. cl & 2 DFEICHFE
» BBEUT. E558F 95% & 99% &< fEhnd

6
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95% 155X [

EREBER N(u, o) HBESNEERTS 7 RERHE

N(p,0/y/n) [CHES
5% ERXE (FREERDHDLUT DN ZRRT D
T —p

T
—1.96 <
~ oyn

<1.96

0.025 0.025

-1.96 0 1.96

EBEERS% N(O, 1)
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ERXE DR

~ {SHRE 00% &(3. 0% DWETRTIINMEERMAICHET
d2¢&

f(x)

confidence interval from sample 1 e
sample 2 ———
sample 3 O
sample4 — o+ —
sample5 ——e+———

sample 6 ——

sample 7 ———

sample 8 | ——e—— falstoinclude p
sample9 ——e—+—

sample 10 ———



FIAHEDEREXE
YYT YA ZDREFNE, BFIOESBRRE,

TF 21-a/28/Vn
ZZT. A sERERERE niEAY o BRKE
2o BEERAHCHF B (1 — o/2) BEOBRE
> {giﬁfg 95% @i’%/ﬁ\ 21_0.05/2 = 1.960
> {EiEJg 90% @i’%é 2’1,0'10/2 = 1.645
» Bl TCP RIL—Tw 7% 5 @EHEI
» 3.2, 3.4, 3.6, 3.6, 4.0Mbps
» EARF1:7 = 3.56Mbps {ZEARIEXERZE s = 0.30Mbps
» 95%SREXMAE:
T 1.96(s/v/n) = 3.56 T 1.960 x 0.30/v/5 = 3.56 T 0.26

> 90% (S FEXFE:

T F 1.645(s/+/n) = 3.56 F 1.645 x 0.30/v/5 = 3.56 F 0.22

40



HHEDERXEE UV TILE
YUTIEHBR B, EEERER RS

measurements

75

70

65

60

55

50

45

] ~ mean
| 95% conf!dencq |nter\(al —

4 8 16 32 64 128 256 512 1024 2048

sample size

THEDOEEXEOY Y TILBIC KX BEL
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YT IVEHD IR WEE DIHEDEFEXAE
YU TIVEHDE (< 30) B8, BEEANERDHICRESIHZEIC
BR>T. ERBXEZERDBIENTED

» FRPEHDSH YT IVER-TI5E. 4R E
(& — 1)/(s/n) (& t(n— 1) PTBERRD

TF t[l—a/Q;n—l] 8/\/ﬁ

ZTT oz ) & BBEE (n—1) Dt HFHLEBFZ (1-a/2)
(B DIBRIE

(9

t(n-1) density function

-t[1-a/2;n-1] +[1-0/2;n-1] X-Wis

11/40



Y YT IVEHDIRVEE DFIHEDEFEXE DB

> Bl: BRD TCP RIL—T v REHRAITHE. t(n— 1) DHRZED
IEREXBOHEZT 20E
> 95%1%%5\‘2&33 n=>5: t[1_0‘05/2,4] = 2.776
T F 2.776(s/\/n) = 3.56 F 2.776 x 0.30//5 = 3.56 T 0.37
> 90%1%@8%3 n=>5: t[1,0.10/2’4] =2.132

T F 2.132(s/v/n) = 3.56 F 2.132 x 0.30//5 = 3.56 F 0.29
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b DIEFRX[E

» BB
» BBHE (n—1) @ 2 9%
> BRSO
> QEBE (n1 — 1,’[12 — 1) () Fﬁj\?ﬁ
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ERXE DA

IvyEEET
> HHEDHESEBZRT
» HYLIRERED S, BELBERXBZRET D72 (CAEE
THBENRDD
» RERERXBZRET DX THHUZERORT
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Y ZFDIEDICRHEBRT VT ILE
» S8E 100(1 — a) T +r% OBETRFIZHET DHIC
(FRIBDHIT n BB ?
» PRERZTV BT 2 & BERE s 2185
> YYTINYA X n, BREE 7 F 25 BREGBE r%

FFr = (1 F —)
T T T 100

» fl: TCP R)L—T'v bDOFESHAIT, $ZARF1Y 3.56Mbps, 12
AIZ2#ERZE 0.30Mbps Z187c.
S3BE 95%. FBE (< 0.1Mbps) TFEH%EE D=0 (SIS
EITDIREBHHDH?
. (10025)2 —( 100 x 1.960 x 0.30
rT 0.1/3.56 x 100 x 3.56

)2 =34.6
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HEE CIRERIRTE

{REIRTE (hypothesis testing) D BE/Y
» BEFICOVWTRESNIZMBZERAICE DV TRSE
HETE & RERTE (FRRDBR
» HE: HIDIHBEICADIEZTE
> RERIRTE: IRERDMRASNDH RIS NDH
» BERICADEVWSIREZIIT. ZDIREEH 95%EBXBICA
IHhESE
» XERTHNIIRERITEHEASINS
» XBATIHREGRGENEIND

16

40



HRTE DB

NHKOIAV%ERITFTTRN 10K Tz, ZDBED N ELT36K
FHDRBIN? (LEUDHIE = N/2,0 = /n/2 DIERDTHIC
LiED'SHDET D)

» RE%: N =36 TRHMN 10 LD

> 95%SREE TIRE

~1.96 < (2 —18)/3<1.96 1212 <z < 23.88

10 (X 95%X B DIMACEH B DT 95%EMETIE N = 36 LWL SR
FEERNEND
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ANEDER

BIEBICEEERBONDIT—IDH 7156, TPHICEHNLTE
LMFERLY,
(EECE. BRGERICENDUREN)

» Chauvenet D¥IME®E: ANBZZEHT D-HDRERA
BYTINTA X nH 5. BARAFIZEREEREZSTE
EROPHERE LT, TOEOLIRER p =KD D
HUnxp<0b BSZDEEZENLTHXIL
S n < 50 DBEXEB/EIEN, CTOFEROERUBWT
[FWLMF7ERLY,
» f5ll: 10 DDEESHANE: 4.6, 4.8, 4.4, 3.8, 4.5, 4.7, 5.8, 4.4,
4.5, 4.3 (sec). 5.8 %’J‘(;tif‘“'ﬂ'gt UTEHNTEDHV?

» T=4.58,s=0.51

by = Zowe=L = BBoASS — 9 4 5 LD 2.4 fFEREL

» P(|lz—Z > 2.4s) =1—P(lx—Z| < 2.4s) = 1-0.984 = 0.016

» nxp=10x 0.016 = 0.16

» 0.16 < 0.5: 5.8 MEWVNST—HEIFEINTES

v

v vy

18 /40



PR ERBE. RE
IFHERE (accuracy): AIEBEEEE DTN
FEE (precision): AIEBED(EFSDEDIE
ERE (error): BEHNSDITN. ZOAREN S DEREH

accurate, not precise

f(x) . precise, not accurate ——

true
mean
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WBWBRRERE

BIERRZE
> RifERE (KU ZIEETENEHHEDTEE)
> BMOVERE. BROVERE. BARRE
- BRI (/1 X, ENERDECSEER L)
SHERE
» XDOHRE
» F1BYIDERE
> BIES
> M85
> RE DGR
YTV IRE
» BRFEZITOHE. TBREEMBIIREA
» BRRE: BBEEDEDEENRESDEDIE
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BWEF E BN
1.23 OBWEF(E 3 HT (1.225 < 1.23 < 1.235)
R0

=i BINTE
12.3
12.300
0.0034
1200

2.34 x 10*

(BULEL, 1.200 x 10%)

W s NOW

St8
> HERPREHTHONAREVNEXKEHE
» FEREDHER 1% <ENEKL
> RARBREF (CBHTZEER
EXIL-I
> HOEE: HIENDRBWEDICEDLED
> 1.23 4 5.724 = 6.954 = 6.95
» FRE: 5 EOBFPHFHIROEDLBVBDICEDLES
> 4.23 x 0.38 = 1.6074 = 1.6
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JIVE1—YDEERE

> integer (32/64bits)
» 32bit signed integer (2G RTULM N DY L TERW)

» 32bit floating point (IEEE 754 single precision): BAIHT# 7
> sign:1bit, exponent:8bits, mantissa:23bits
» 16,000,000 + 1 = 16,000, 000!!

» 64bit floating point (IEEE 754 double precision): B#HT# 15
> sign:1bit, exponent:11bits, mantissa:52bits



RIEDEE: Web 7O £R0OT YT ILT—%

» apache log (combined log format)
» KB Splunk #tOF 2 — kU P )LASLIT —5 (24 B5E5)
» #) 500KB(zip [E#fE). RRREZEH OMB

http://www.iijlab.net/ kjc/classes/sfc2013s-measurement/access_combined.zip
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HbyZFILFoeROT

10.32.1.43 - - [10/Apr/2013:00:07:00] "GET /flower_store/product.screen?product_id=FL-DLH-02 HTTP/1.1" \
200 10901 "http://mystore.splunk.com/flower_store/category.screen?category_id=GIFTS&JSESSIONID=SD7SL1FF'
"Mozilla/5.0 (X11; U; Linux i686; en-US; rv:1.8.0.10) Gecko/20070223 Cent0S/1.5.0.10-0.1.el4.centos Fir
4361 3217

10.32.1.43 - - [10/Apr/2013:00:07:00] "GET /flower_store/category.screen?category_id=GIFTS HTTP/1.1" \
200 10567 "http://mystore.splunk.com/flower_store/cart.do?action=purchase&itemId=EST-12&JSESSIONID=SD7S
"Mozilla/5.0 (X11; U; Linux i686; en-US; rv:1.8.0.10) Gecko/20070223 Cent0S/1.5.0.10-0.1.el4.centos Fir
1685 2466

177.23.21.50 - - [10/Apr/2013:00:07:45] "GET /flower_store/category.screen?category_id=PLANTS HTTP/1.1" \
200 10567 "http://mystore.splunk.com/flower_store/cart.do?action=purchase&itemId=EST-18&JSESSIONID=SD7S]
"Mozilla/5.0 (X11; U; Linux i686; en-US; rv:1.8.0.10) Gecko/20070223 Cent0S/1.5.0.10-0.1.el4.centos Fir
2526 482

177.23.21.50 - - [10/Apr/2013:00:07:45] "GET /flower_store/category.screen?category_id=PLANTS HTTP/1.1" \
200 10567 "http://mystore.splunk.com/flower_store/cart.do?action=purchase&itemId=EST-18&JSESSIONID=SD7S
"Mozilla/5.0 (X11; U; Linux i686; en-US; rv:1.8.0.10) Gecko/20070223 Cent0S/1.5.0.10-0.1.el4.centos Fir
2623 2099

233.77.49.54 - - [10/Apr/2013:00:07:58] "GET /flower_store/category.screen?category_id=FLOWERS HTTP/1.1"
200 10567 "http://mystore.splunk.com/flower_store/cart.do?action=purchase&itemId=EST-11&JSESSIONID=SD7S
"Mozilla/5.0 (X11; U; Linux i686; en-US; rv:1.8.0.10) Gecko/20070223 Cent0S/1.5.0.10-0.1.el4.centos Fir
662 2486

10.2.91.32 - - [10/Apr/2013:00:08:00] "GET /flower_store/category.screen?category_id=BALLOONS HTTP/1.1" \
200 10567 "http://mystore.splunk.com/flower_store/cart.do?action=purchase&itemId=EST-11&JSESSIONID=SD7S
"Mozilla/5.0 (X11; U; Linux i686; en-US; rv:1.8.0.10) Gecko/20070223 Cent0S/1.5.0.10-0.1.el4.centos Fir
431 4899

10.2.91.32 - - [10/Apr/2013:00:08:00] "GET /flower_store/category.screen?category_id=BALLOONS HTTP/1.1" \
200 10567 "http://mystore.splunk.com/flower_store/cart.do?action=purchase&itemId=EST-11&JSESSIONID=SD7S]
"Mozilla/5.0 (X11; U; Linux i686; en-US; rv:1.8.0.10) Gecko/20070223 Cent0S/1.5.0.10-0.1.el4.centos Fir
3276 322

10.32.1.37 - - [10/Apr/2013:00:08:26] "GET /flower_store/category.screen?category_id=FLOWERS HTTP/1.1" \
200 10567 "http://mystore.splunk.com/flower_store/cart.do?action=purchase&itemId=EST-17&JSESSIONID=SD7S
"Mozilla/5.0 (X11; U; Linux i686; en-US; rv:1.8.0.10) Gecko/20070223 Cent0S/1.5.0.10-0.1.el4.centos Fir
1494 4680

192.168.11.38 - - [10/Apr/2013:00:08:49] "GET /flower_store/category.screen?category_id=FLOWERS HTTP/1.1"
200 10567 "http://mystore.splunk.com/flower_store/cart.do?action=purchase&itemId=EST-13&JSESSIONID=SD7S
MMAarsT11a/E O (Y44 . TTe Timw SARQR: amcli@e vred @ 0 10Y Carlrm /90070992 Cant+NQ/1 E O 10-0 1 214 cord e T4 am



RICIDES:

UOIRNHOERITOY

» YL Web PO ELROT%EES
» UOT RN EER
> ﬁh%’éjD“} ~

*E)\1 S 5 pREfR Tl

% ruby parse_accesslog.rb access_combined.log > access-5min.txt
% more access-bmin.txt

2013-04-10T00:
2013-04-10T00:
2013-04-10T00:
2013-04-10T00:
2013-04-10T00:
2013-04-10T00:
2013-04-10T00:
2013-04-10T00:

% gnuplot
gnuplot> load

05
10
15
20
25
30
35
40

11 116664
12 137116
15 168736
9 102072

10 105680
13 139694
12 129011
9 95103

’access.plt’
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RIBDEE: 5 2fERTY U TR M E EnE#zihd

#!/usr/bin/env ruby
require ’date’

# regular expression for apache common log format
# host ident user time request status bytes

= /~(\s+) (\S+) (\S+) \[C.*?)\] "(.*7)" (\d+) (\d+|-)/

timebins = Hash.new([0, 0])
count = parsed = 0
ARGF.each_line do |linel
count += 1
if re.match(line)
host, ident, user, time, request, status, bytes = $”.captures
# ignore if the request is not "GET"
next unless request.match(/GET\s.*/)
# ignore if the status is not success (2xx)
next unless status.match(/2\d{2}/)
parsed += 1
# parse timestamp
ts = DateTime.strptime(time, ’%d/%b/%AY:%H:%M:%S*)
# create the corresponding key for 5-minutes timebins
rounded = sprintf("}02d", ts.min.to_i / 5 * 5)
key = ts.strftime("%Y-%m-%dT/%H:#{rounded}")
# count by request and byte
timebins[key] = [timebins[key][0] + 1, timebins[key][1] + bytes.to_i]
else
# match failed
$stderr.puts("match failed at line #{count}: #{line.dump}")
end
end
timebins.sort.each do |key, valuel
puts "#{key} #{value[0]} #{value[1]}"
end
$stderr.puts "parsed:#{parsed} ignored:#{count - parsed}"
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plot graphs of request counts and transferred bytes

0.1 T T
requests
o 0.08 | i
3
@ 006 b
1]
$ 004
o
(3]
= 0.02 B
0 Il Il Il Il Il Il Il Il Il Il Il
00:00 02:00 04:00 06:00 08:00 10:00 12:00 14:00 16:00 18:00 20:00 22:00
time (5-minute interval)
10000 T
traffic
__ 8000 E
2
& 6000 .
] 4
r.(:é 000
= 2000 .

0 Il Il Il Il
00:0002:00 04:00 06:00 08:00 10:00 12:00 14:00 16:00 18:00 20:00 22:00
time (5-minute interval)
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gnuplot script

» multiplot #B£T 2 DD 7Oy hEFEDHD

set
set
set
set
set
set
set

set

set
set

terminal postscript eps color solid 18

xlabel "time (5-minute interval)"

xdata time

format x "Y%H:%M"

timefmt "%Y-%m-%dT%H:%M"

xrange [’2013-04-10T00:00°:°2013-04-10T23:55°]
key left top

multiplot layout 2,1

yrange [0:0.1]
ylabel "requests/sec"

plot "access-5min.txt" using 1:($2/300) title ’requests’ with steps

set
set

yrange [0:10000]
ylabel "traffic (bps)"

plot "access-5min.txt" using 1:($3*8/300) title ’traffic’ with steps

unset multiplot
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BE: IEREEDEM

> IERRD (TS RAEBELEDER
> — RO DRI RLEIEL (ruby D rand 2 E) ZE> T, F
19 u, 1BERE s ZRDRLELBERT DY S AZER
» EXNTSLDOER
» BEERDHICRESRLEHZER L. ZDER TS AER.
BEFRAMM CHDIIEZHRT D
> EBXEDFE
» BYTIIBICEK > TERBRREDEILT B & =R
SUERELBER TOT S LZALT, 19 60, IZERE 10 D
ERDMICHES EBIN%Z 10 BfE1ED. TV T I n =4, 8,
16, 32, 64, 128, 256, 512, 1024, 2048 DEEKII=ZES,
> BRADSBIOXEHEE
ZO 10 BRI DZNZND S, B FOXEHEEZET
Ro SHE 95% T\ {EMERM "+£1.960 =" ZML\K. 10 @58
DRERZVEDDRICTOY L, XBICTHVTILEEY
BICFEHEEED, ZNZENOUVTILHSHEUIEFIEZ
DOEEXEZTRE
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box-muller ;AT K B IEARBLEAERK

basic form: creates 2 normally distributed random variables, z; and
z1, from 2 uniformly distributed random variables, ug and w1, in
(0,1]

v —21Inug cos(2muy)
vV —2Inwugsin(2mu;)
polar form: =AREEZEDIR VAL

ugp and uq: uniformly distributed random variables in [—1, 1],
s=ud+u? (if s=0ors>1, reselect ug,u)

20 = Rcos(f) =
(0) =

z1 = Rsin(6

—2Ins

20 = Uo

|
N
—_ »
=]
»

21 = U1
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box-muller JE(C KD IERELEENR I — K

# usage: box-muller.rb [n [m [s]]]
n = 1 # number of samples to output
mean = 0.0

stddev = 1.

n = ARGV[O0].to_i if ARGV.length >= 1
mean = ARGV[1].to_i if ARGV.length >= 2
stddev = ARGV[2].to_i if ARGV.length >= 3

# function box_muller implements the polar form of the box muller method,
# and returns 2 pseudo random numbers from standard normal distribution
def box_muller
begin
ul = 2.0 * rand - 1.0 # uniformly distributed random numbers
u2 = 2.0 * rand - 1.0 # ditto
s = ul*ul + u2%u2 # variance
end while s == 0.0 || s >= 1.0
w = Math.sqrt(-2.0 * Math.log(s) / s) # weight
gl = ul * w # normally distributed random number
g2 = u2 * w # ditto
return gl, g2
end
# box_muller returns 2 random numbers. so, use them for odd/even rounds
x = x2 = nil
n.times do
if x2 == nil
X, x2 = box_muller

else
X = x2
X2 = nil
end

X = mean + x * stddev # scale with mean and stddev
printf "%.6f\n", x
end



EREBDER TS LB
> BEFRABOE RIS LEERL. ERAHTHZ L%
"RY S
> EBEIERILIE 10,000 BER L. IR 1HOEYTER N
U5 DEIER

0.45

04|
035 | Al
03} 7

0.25 N

f(x)

0.2

0.15

0.1

0.05
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EXNT S LADIYER

» DEK[UT I CTER NI S LZERT D

#
# create histogram: bins with 1 digit after the decimal point
#

re = /(-?\d*\.\d+)/ # regular expression for input numbers
bins = Hash.new(0)

ARGF.each_line do |linel
if re.match(line)
v = $1.to_f
# round off to a value with 1 digit after the decimal point
offset = 0.5 # for round off
offset = -offset if v < 0.0
v = Float(Integer(v * 10 + offset)) / 10
bins[v] += 1 # increment the corresponding bin
end
end

bins.sort{la, bl a[0] <=> b[0]}.each do |key, valuel

puts "#{key} #{valuel}"
end

33
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FREBDOER TS LDTOY

set boxwidth 0.1

set xlabel "x"

set ylabel "f(x)"

plot "box-muller-histogram.txt" using 1:($2/1000) with boxes notitle, \
1/sqrt (2+pi)*exp(-x**2/2) notitle with lines linetype 3
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HHEDEREE &Y Y T DIREE
YUTIEMMEZ BICHREL, FRXMEEIRL S

measurements

75

70

65

60

55

50

45

mean
| 95% conf@dencg inter\(al —

4 8 16 32 64 128 256 512 1024 2048
sample size

THEDEEXEOY Y TILRICKDEL

35/40



BEL RISV VYSEERRBOZOY

» RSV EF—IDSDHZAND
> T—5: 2012 FDIR/JVILR S Y Y DECEHR
» http://results.sportstats.ca/res2012/honolulumarathon_m.htm
» SEREE 24,070 A
> RYEIEE
1. 2%EE. BUTES. INTEZEZNZTNOD. TEFKBOF
19, BERE. PEIE
2. ZNZTNOFZEFBOER TS A
» 3DDERRISLZERLZDRIZEL
> EVIBIE 10 2T B
» 32070y MIHBRTERLSICEREEEDEDZL
3. Zh2no CDF Oy ~
» OEDORIE3DOTOY hEEL
4. ATV 3V
» FRBIPEBIDO CDF 70w hMaEBHB
5. ER
> TIDSHEIEND EEEHR
» BEFR: LIR—kZV&EDD PDF 774 )LICLT SFC-SFS
HhoiRE
» BEXY): 2013F 58168
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RNV YT—H

O OO NOG D WN R

=

—974-vhk
Chip Pace Gender  Category @10km @21.1 @3
Place Time /mi # Name City ST CNT Plce/Tot Plc/Tot Category Splitl Sp11t2
12:31 5:04 6 Kipsang, Wilson Iten KEN 1/12690 1/16 MElite 31:40 1:07:
13:08 5:05 7 Geneti, Markos Addis Ababa ETH 2/12690 2/16 MElite 31:39 1:07:
14:15 5:08 11 Kimutai, Kiplimo Eldoret KEN 3/12690 3/16 MElite 31:40 1:07:
14:55 5:09 2 Ivuti, Patrick Kangundo KEN 4/12690 4/16 MElite 31:40 1:07:
15:17 5:10 12 Arile, Julius Kepenguria KEN 5/12690 5/16 MElite 31:39 1:07:
15:53 5:11 9 Bouramdane, Abderr Champs De Cou MAR 6/12690 6/16 MElite 31:40 1:07:
18:27 5:17 8 Manza, Nicholas Ngong Hills KEN 7/12690 7/16 MElite 31:39 1:07:
19:46 5:20 1 Chelimo, Nicholas Ngong Hills KEN 8/12690 8/16 MElite 31:40 1:07:
25:23 5:33 20850 Harada, Taku Nagoya-Shi  AI JPN 9/12690 1/1238 M25-29 31:54 1:09:
27:12 5:37 25474 Hagawa, Eiichi Matsumoto NA JPN 10/12690 1/1501 M30-34 32:46 1:12:

Chip Time: SEREHE
Category: MElite, WElite, M15-19, M20-24, ..., W15-29, W20-24,
"No Age” EE> TWBADWDDTER
Country: 3-letter country code: e.g., JPN, USA
UK'HRU>TWBDTER
TEEEBELUILS. BENE>TVWBIHFIVvITBRIE
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XED

% 4@ DHEEEXRE
» IERDH
> ERXEERE
> DD
» BE: EBXE
» FeE 1l
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E 50 ZKRMEEEMS (5/8)

» OVIT—IU

» Web POEREIVFIYVYDH
NERL EEHR
BB NEFEABR

v

v
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